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  1 (102) tpahghu fzpjKk;
  Gs;sp tpgutpaYk;  

102/BMS 
 

 
 
 
 

 

 
 

 

 

(nkhj;jk; 40 Gs;spfs;) 
 

 
gupe;Jiuf;fg;gl;l tpilfs; - tpdh Xd;W 
 

1.1 (3)   
mj;jpahak; : 01.2 

16 - y2 = (4 – y)(4 + y)  

(03 Gs;spfs;) 
1.2 (2) 

mj;jpahak; : 02.2 

 tl;b  = 𝑋𝑟𝑛   x= 50 000, n = 4,    r = 0.12     

  = 50,000 × 0.12𝑋4 

             = 24,000 

tl;b    = Rs. 24,000 

 
(03 Gs;spfs;)  

1.3   (4) 
 mj;jpahak; : 05.5 

𝑟 =
n ∑ xy −   ∑ x . ∑ y

√(n ∑ x2 −   (∑ x)2 ) (n ∑ y2 −   (∑ y)2 )

 

𝑟 =
5 X 904 −  24 X 179

√(5 ×  138 − 242 ) (5 ×  6499 − 1792 )

 

                                       r = 0.9846                               
 (03 Gs;spfs;)  

1.4 (2) 
mj;jpahak; 07.3 

𝑃 =
𝑃1

𝑃0
× 100 

 

𝑃 =
6.8

2.5
× 100  

     = 272% 

 
 (03Gs;spfs;)  

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk; 
kl;lk; 1 - guPl;ir  – [_iy 2025 

 
(102) tpahghuf; fzpjKk; Gs;sptpgutpaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

gFjp - A 
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  Gs;sp tpgutpaYk;  

102/BMS 
 

1.5  (3) 
mj;jpahak; 02.2 

      S = X(1 + r/N)n×N                         S= 25000, n = 4,    r = 0.05,    N= 2 

                  S = 25000(1 + 0.05/2)4×2                       

                             X = Rs. 30 460 

(03 Gs;spfs;)  
1.6 (1) 
 mj;jpahak; 6.3.4 

P(AՈB) = P(A) × P(B)  

P(XՈY) = 
3

4
 ×

3

5
 

P(XՈY) = 
9

20
  

(03 Gs;spfs;) 
1.7   (4)  

mj;jpahak; 6.5    

   𝑬[𝑿] = ∑ 𝑥 × 𝑝 

           = 0 × 0.15 + 1 × 0.30 + 2 × 0.2 + 3 × 0.1 + 4 × 0.25     

           = 2                              

                          (03 Gs;spfs;) 
1.8 (2) 

mj;jpahak; :  04.6. 

,ilak; (Md)                                          

 

     𝑛

2
=

104

2
= 52,  ,ila tFg;G -  69.5 – 79.5  (70 – 79) 

L1 = 69.5   n = 104              Fc = 50           Fm  = 40         C = 79.5 – 69.5 = 10 

Md = L +
( 

𝑛

2
− 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

                            Md = 69.5 +
(52−50 )

40
 × 10 

                             𝐌𝐝 = 𝟕𝟎 

(03 Gs;spfs;) 
1.9 (3)   

mj;jpahak; : 02.2     

 𝑆 = 𝑋(1 + 𝑟)𝑛  x= 80 000, n = 3,    r = 0.04,     

 𝑆 = 80 000 × 1.043 

            S   = 89 989.12 

nkhj;j tl;b   = 89 989 – 80 000 = Rs. 9 989 

  (03 Gs;spfs;) 
1.10 (4) 

mj;jpahak; : 07.15 

𝑌̂ = 𝑇̂ × 𝑆̂ 

 𝑌̂ = 8560 × 0.81 

 𝑌̂ = 6 934 

 (03 Gs;spfs;) 
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1.11 
 mj;jpahak; : 02.2/ 04.6 / 04.7 

 A    (2) 

 B    (3) 

 C    (1) 

  (01 Gs;sp tPjk;> 03Gs;spfs;) 

 

1.12      
 mj;jpahak; : 01.3 

              100+15 = 115 

TV njhiy-,af;fpapd; tpw;gid tpiy = 1000 ×
115

100
 

                                                                       = &gh. 1150                                                                                                                                                 

              (02 Gs;spfs;)        
1.13  

mj;jpahak; : 07.6 

p1q1   p0q1 

     7200 9000 

1250 1000 

2450 1750 

10900 11750 

      ghNrapd; tpiy Rl;b  = 
∑ 𝐩𝟏𝐪𝟏

∑ 𝐩𝟎𝐪𝟏
 × 100 

    = 
10900

11750
 × 100 

 = 92.77% 

           (03 Gs;spfs;) 
1.14  mj;jpahak;  :07.10 
 cz;ik 

 (01 Gs;sp) 
1.15  mj;jpahak; : 07.12 
 cz;ik 

            (01 Gs;sp) 
(nkhj;jk; 40  Gs;spfs;) 

 

  

gFjp – A  epiwT 
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102/BMS 
 

(nkhj;jk; 40 Gs;spfs;)  

 
gupe;Jiuf;fg;gl;l tpilfs; - tpdh ,uz;L 
 
mj;jpahak; - 1 
 

(a)  
    mky;  gpky;  rky; 

    3  2 - 

    -  3  5 

 nghJ tpfpjk; : 9  6  10 

 mky; ngWfpd;w njhif = 500 000 × 
9

25
= 𝑅𝑠. 180 000.00     

              (03 Gs;spfs;) 

(b)   

    tFg;gpy; fhzg;gl;l khztu;fspd; vz;zpf;if  - X 

    tFg;gpy; fhzg;gl;l khztpfspd; vz;zpf;if  - Y 

80x + 40y  = 4000  ____________(1) 

x  +  y      = 60     ____________(2) 

X    = 40 

Y    = 20 

 

khztu;fspd; vz;zpf;if = 40 

khztpfspd; vz;zpf;if  = 20 
(04 Gs;spfs;) 

(c)  

500,   650,  800, …. 

𝑇𝑛  = 𝑎 + (𝑛 − 1)𝑑 

  𝑇𝑛  = 500 + 9 × 150 

  𝑇𝑛  = 𝑅𝑠.  1850  

10tJ thuk; mtu; Nrkpf;Fk; njhif : &gh.  1,850 

(03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

gupe;Jiuf;fg;gl;l tpilfs; - tpdh %d;W 
 
 mj;jpahak; - 03 

  

(a) nkhj;j tUkhdk; (TR)  

 𝑇𝑅 = 𝑝 × 𝑞    p = 24q – 3 

         𝑇𝑅 = (24q −  3) × q 

 

gFjp - B 
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102/BMS 
 

𝑻𝑹 = 𝟐𝟒𝐪𝟐 − 𝟑𝐪      
 

vy;iyf; fpuak; (MC) 

 

TC= 1800 − 6𝑞 + 24q2    

   𝑀𝐶 =
𝑑𝑇𝐶

𝑑𝑞
 

 𝑴𝑪 =  −𝟔 + 𝟒𝟖𝒒  

 𝑴𝑪 = 𝟒𝟖𝒒 − 𝟔  

                                                                                                              (03 Gs;spfs;) 

(b)  
,yhg el;lkw;w Gs;spapy; (rkg;ghl;Lg; Gs;spapy;) 

 TR = TC 

 

 𝟐𝟒𝐪𝟐 − 𝟑𝐪     = 1800 − 6𝑞 + 24q2 

3 q             = 1800  

q             = 600 

 ,yhg el;lkw;w Gs;sp = 600 myFfs; 
(04 Gs;spfs;) 

(c)  

        p = 24q – 3 

 q = 600 

 p = 24x 600 – 3 

 p =14397 

 ,yhg el;lkw;w Gs;spapy; myF tpw;gid tpiy = &gh. 14>397/600 

             = &gh. 24 
  (03 Gs;spfs;) 

 (nkhj;jk; 10 Gs;spfs;) 

gupe;Jiuf;fg;gl;l tpilfs; - tpdh ehd;F 
mj;jpahak; -  05 

 

(a)   

 

 

 ∑ X = 42     ∑ Y = 552,   ∑ XY = 3204 ,   ∑ X2 = 294 ,   n = 7  

    

 

x y xy x^2 

10 70 700 100 

8 72 576 64 

7 73 511 49 

6 80 480 36 

4 83 332 16 

5 85 425 25 

2 90 180 4 

42 553 3204 294 
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102/BMS 
 

         b        =          n ∑ XY -  ∑ X ∑ Y 

                         √ (n ∑ X2 -  (∑ X)2 ) (n ∑ X2 -  (∑ X)2 ) 

 

            b        =          7 X 3204 – 42 X 553 

                                    (87X 294 - 422 ) 

   b      =  -2.71  

 

      a    = Y̅ − bX̅ 

      a   =  
553

7
− (−2.71) ×

42

7
 

       a  =  95.26 

 

 ,opT tu;f;f Kiw rkd;ghL    Y = 95.26 - 2.71 x  
                                                                                                 (08 Gs;spfs;) 

(b)   

x = 40 vd;gijg; gpujpaPL nra;jy; 

Y = 95.26 - 2.71 x 

Y = 95.26 - 2.71 × 12 

Y = 62.74 

vjpu;ghu;f;fg;gLk; tUlhe;j guhkupg;G nrytpdk; = &gh. 62>740 
(02 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

gupe;Jiuf;fg;gl;l tpilfs; - tpdh Ie;J 
 
mj;jpahak; -  04  
 

(a)  
 Mfhu tFg;G : 30-39 
  

 L1 = 29.5, ∆1= 20 − 12 = 8 

   C = 10 

             ∆2= 20 − 9 = 11 

 

𝑀𝑜 = 𝐿𝑖 + [
∆1

∆1 + ∆2
] × 𝐶 

 

 𝑀𝑜 = 29.5 + [
8

8+11
] × 10 

 

             𝑀𝑜 = 33.71 

                                                       (03 Gs;spfs;) 
(b)  

KjyhtJ Kiw (fzpg;ghidg; gad;gLj;jp)  

∑ f X = 1741  ∑ f X2 = 62494.5 ∑ f =58 

 

taJ X F fx Fx^2 

0 - 9 4.5 5 22.5 101.25 

10 - 19 14.5 8 116 1682 

20 - 29 24.5 12 294 7203 

30 - 39 34.5 20 690 23805 

40 - 49 44.5 9 400.5 17822.25 

50 - 59 54.5 4 218 11881 

58 

∑f = 58 ∑fx^2 = 

62494.50 
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,il  =  ∑ fX 

         ∑ f 

          = 1741 

    58 

          = 30.02  

 (03 Gs;spfs;) 

(c)                                                                                                           

  epaky; tpyfy; = √
∑ 𝒇𝒙𝟐

∑ 𝒇
−  [

∑ 𝒇𝒙

∑ 𝒇
]

𝟐

        

 

  epaky; tpyfy; = √
𝟔𝟐𝟒𝟗𝟒.𝟓

𝟓𝟖
−  [

𝟏𝟕𝟒𝟏

𝟓𝟖
]

𝟐

      
   

                                  =13.28  
(04 Gs;spfs;) 

              (nkhj;jk; 10 Gs;spfs;) 
,uz;lhtJ Kiw 

      A = 34.5 

X f d fd fd2 

4.5 5 -30 -150 4500 

14.5 8 -20 -160 3200 

24.5 12 -10 -120 1200 

34.5 20 0 0 0 

44.5 9 10 90 900 

54.5 4 20 80 1600 

  58   -260 11400 

 

(b) ,il  =    A    +     ∑ fd 

                         ∑ f 

            = 34.5    +  -260 

                     58 

                      = 30.02  

 

(c) 

        epaky; tpyfy; =   ∑ fd2   -     ∑ fd  2 

            √   ∑ f            ∑ f 

   

        epaky; tpyfy; =    11400       -    260     2 

            √    58             58 

        = 13.28  

 

 

 

 

gFjp – B  epiwT 
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(nkhj;jk; 40 Gs;spfs;) 

 

 

gupe;Jiuf;fg;gl;l tpilfs; - tpdh MW 
(A)  

mj;jpahak;  2 
 

(a)   

              x[1 - (1+r)-n]   A = 300 000,  n = 3,  r = 0. 2 

A        =                                  

    r  

 

 
           x[1 – 1.2-3]  

300 000  =                                  

        0.2 

 

      x  =   300 000 X 0.2   

          [1 – 1.2-3]     

  

                 x  =   142 417.58  

 
my;yJ 

 

A          =          300,000              

                         PVIFA@20% for 3 years 

 

              =        300,000 

                         2.1065 

               

            =         &gh.142,417.58 
  

tUlhe;j flDf;fhd kPs;nfhLg;gdT = &gh. 142,417.58  

  (03 Gs;spfs;)  

(b)  

tUlk; Muk;gj;jpy; 
epYitapYs;s 
njhif  

tUlhe;j 

tl;b (20%) 

kPs;nfhLg;gdT  
jtizf;fl;lzk;  

,Wjpapy; 
epYitapYs;s 
njhif 

1 300,000 60,000 142,417.58 217,582.42 

2 217,582.42 43,516.48 142,417.58 118,681.32 

3 118,681.32 23,736.26 142,417.58 0.00 

 

  (03 Gs;spfs;) 
 

gFjp - C 
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 (B) 

mj;jpahak;  2 

(a) epfu ,w;iw ngWkjp fzpg;gPL 

tUlk;  
fhRg; gha;r;ry;  D.F. 

(10%) 

foptpl;l fhRg; gha;r;ry; 

X Y X Y 

0 (100,000.00) (100,000.00) 1 (100,000.00) (100,000.00) 

1 50,000.00 10,000.00 0.909 45,450.00 9,090.00 

2 40,000.00 30,000.00 0.826 33,040.00 24,780.00 

3 30,000.00 40,000.00 0.751 22,530.00 30,040.00 

4 10,000.00 50,000.00 0.683 6,830.00 34,662.25 

NPV    7,850.00 (1,427.75) 

 
  (04 Gs;spfs;) 

(b)                                        
KjyPl;Lj; jpl;lk; X ,d; epfu ,w;iw ngWkjp Neu;f; fzpakhf cs;sJ.  

KjyPl;Lj; jpl;lk; Y ,d; epfu ,w;iw ngWkjp vjpu;f; fzpakhf cs;sJ.  

Mifahy; X rpwe;j KjyPl;Lj; jpl;lkhf fUjg;gLfpd;wJ. 
(02 Gs;spfs;) 

(c)  

mj;jpahak; - 6 

(a)  

    KjyhtJ NgUe;J ,uz;lhtJ  NgUe;J        L = jhkjk; 

                        NL = jhkjk; ,y;iy 

 
 

     L  (L,L) 0.03 
           0.30 
  L         0.70 
                                                 0.10                                                        NL’             (L,L’) 0.07 
 
   L  (L’,L) 0.27 
            0.90  0.30 
                                                                    NL’      
     0.70 NL’ (L’,L’) 0.63 

(02 Gs;spfs;)) 
(b) 

 (L,L), (L,L’), L’,L),  

P(Fiwe;jJ xU NgUe;J jhkjkhf tUk; epfo;jfT) = 0.1×0.3 + 0.1×0.7 + 0.9×0.3 

         = 0.37  

         = 37%  

(02 Gs;spfs;) 
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(d)   

mj;jpahak; - 06.6       

        

 X : jpdrup tUkhdk; (&gh.) 

 

 µ= 50000 σ = 5000 

 

        𝑍 =
X  −  µ

σ 
                                    

          

          Z        =     X  -  50000 

         5000           

X = 55000 

          Z        =     55000  -  50000 

                     5000           

 

    Z        =  + 1 

 

     0.3413  

 

 

         

 

                                                                                               x     

                                              50000 55000   

  z 

    0     + 1 

 

Pr(X ≤180 ) = 0.5 + 0.3413 = 0.8413 or 84.13%  

(04 Gs;spfs;) 
 (nkhj;jk; 10 Gs;spfs;) 

 

 

  

gFjp C epiwT  
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Notice:  
 

These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The fundamental 

objective of this publication is to add completeness to its series of study texts, designed especially for 

the benefit of those students who are engaged in self-studies. These are intended to assist them with the 

exploration of the relevant subject matter and further enhance their understanding as well as stay 

relevant in the art of answering questions at examination level. 
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